

lib/memory-range/bidirectional-iterator.ath

```

1 load "forward-iterator"
2 #.....
3
4 module Bidirectional-Iterator {
5   open Forward-Iterator
6
7   declare predecessor: (X, S) [(It X S)] -> (It X S)
8
9   module predecessor {
10
11     define of-start :=
12       (forall r . predecessor start r = start back r)
13     define of-successor :=
14       (forall i . predecessor successor i = i)
15   }
16
17   define theory :=
18     (make-theory ['Forward-Iterator]
19       [predecessor.of-start predecessor.of-successor])
20
21   define successor-of-predecessor :=
22     (forall i . successor predecessor i = i)
23
24   define proof :=
25     method (theorem adapt)
26       let {[get prove chain chain-> chain<-] := (proof-tools adapt theory);
27           [successor predecessor] := (adapt [successor predecessor])}
28       match theorem {
29         (val-of successor-of-predecessor) =>
30           pick-any i:(It 'X 'S)
31             (!chain
32               [(successor predecessor i)
33                = (successor predecessor start stop i) [start.of-stop]
34                = (successor start back stop i) [predecessor.of-start]
35                = (start stop i) [successor.of-start]
36                = i [start.of-stop]])
37             )
38
39       (add-theorems theory |[successor-of-predecessor] := proof|)
40 } # Bidirectional-Iterator

```